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=4 AR (R) | =7 (%) | B (B) | O (%) B (%)
7T 171,989 66.3 80,845 88.7 58.6
AFT 5,158 2.0 2,270 78.6 1.6
INTTA 3,394 1.3 2,113 164.9 1.5
ap ey 13,200 5.1 6,469 96.1 4.7
Z DA KN 1,669 0.6 828 98.5 0.6
R 12 0.0 11 1,100.0 0.0
FY 16,988 6.6 10,089 146.2 7.3
TYT 1 0.0 1 - 0.0
TV 1,809 0.7 422 30.4 0.3
ok 18,448 7.1 7,017 61.4 5.1
T T7=7 6,485 2.5 1,678 34.9 1.2
~L— 14,082 5.4 6,146 77.4 4.5
TJT RV 2,302 0.9 1,315 133.2 1.0
S 469 0.2 288 159.1 0.2
RITTA 3,281 1.3 1,904 138.3 1.4
Al 259,287 100.0 121,396 88.0 88.0
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M 20214E12 20214F B2t 20214F12 A 20214 B3
TIUR \ \ A ‘ \
B T B v =y 7 =E¢ 7
N=p 4,003 24.8 73,567 20.7|FSFF AT T AN 1,611 10.0 27,128 7.6
V)= 1,781 11.1 35,355 997 4T v herm JAK 1,339 8.3 37,449 10.5
T XTI AT —I7 s 1,723 10.7 55,457 15.6|[7 AT AT —I7 e T =y 3% 989 6.1 18,682 5.3
TAT vk 1,709 10.6 50,377 14.2(7">a—-208 741 4.6 15,812 4.4
TARL— 1,454 9.0 27,304 7.7 2% e =T A A 695 4.3 14,063 4.0
74 —FK 1,302 8.1 29,221 8274 —FR-Lr Ty —X 693 4.3 14,925 4.2
Ta— 1,226 7.6 27,186 7.6[> AL — 7 — X% 632 3.9 8,485 2.4
A PE 1,089 6.8 15,770 4.4~ F T UA 579 3.6 11,796 3.3
D= = 617 3.8 12,436 3.5|L — T 534 3.3 8,130 2.3
U= 338 2.1 11,287 3.2V — 1% 485 3.0 8,492 2.4
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